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EDUCATION
PAPER - 1I

This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Which one of the following combinations gives a correct reason for including philosophy of
education in Teacher Education Curriculum ?

a) Philosophy is an oldest discipline

b) Philosophy helps in understanding educational concepts in a holistic way

(

(

(c) Philosophy and education are two sides of the same coin

(d) Philosophy helps in developing a better personality of prospective teachers
(

e) Philosophical analysis of educational concepts helps in developing a rational view point

Code :
(1) (@), (b), (©) and (¢) (2) () (0 and ()
() (b), (©) (d) and (©) 4 @), 0), (© and (d)
2. Which of the following reflects the stance to be taken by a teacher advocating
existentialist education ?
(1) Values cannot be taught
(2) Values are subjective and personal
(3) Values are essentially contextual but objective
(4) Values are derived from market forces
3.  “Prayer cannot be offered with an empty stomach”. This statement will get support
from
(1) Idealism (2) Naturalism
(3) Pragmatism (4) Logical positivism
4.  Assertion(A) : Maya takes a contrary view to Brahman.
Reason(R) : Maya creates an illusory world.
Select the correct code from the following :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) Both (A) and (R) are not correct.
4) ) is incorrect while (R) is correct.
pooms HIHIHIHIHHIHHHHI [0 : Fapec
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b) TR Hferen STaEROTS S AT €Y H U § WERd YSH H ©

) TRemE SR fren U & faeen o 91 Ueq §

d) U, W ARl 1 e g €9 H faewfad w H SR Y i §

e) Siftrer staumoNet % it faveryo | faaeyul gfes fawfaa w0 & wera fredt §

(
(
(
(

EA\R‘:
1) (@), (), () R (e) 2) (), () ¥R (e)
3) (), (), (d) 3 (e) @) (@), (), () IR (d)

frafafed § 9@ ®F-m1 woF, i e 1 gaed[ w9 a9l S189e gR1 SA9AT S o
gfteshio st gfafaftea e &2

(1) Tl ! 9T &l S Fehdl

2) Y AfFfTs iR Jafa 2 §

3) Y fard w9 § yrEfTed Wy i B ¥
(4)

e o aTsIR) WfoRral 9 feran s §

[ Y2 1o IE R ST weRdt 1 Y 39 FHHF H GUAT YT Bl S

(1)  3TeRfarg 2) wEfER
(3) TN (4) iR fagEmg

AR (A) : TR, o F foada gieshror s 1

e (R) : TR Ueh Wfqufass SATd o1 goid il § |
frefafed 5 9 @@t %2 &1 997 ST

(1) (A) 3R (R) A =& § 3R (R), (A) it T ==

2) (A) 3R (R) I 9 § TG (R), (A) Tl TEI AR TG B |
3) (A) 3R (R) I TeT & B |

(4) (A)7Ted § S@fE (R) T2 2

)
)
)
)
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5.  Select the correct combination of concepts which will represent Buddhism.

(i) Anekantvada (i) Vaibhashik (i) Pabajja
(iv) Sanskar (v) Sautantrik (vi) Syadvada
Code :

(1) (@), (ii), (iii) and (v) (2) (@), (i), (iii) and (iv)

(3) (i), (iii), (iv) and (vi) (4) (i), (iii), (iv) and (V)

6.  Match the following two sets. Set - I provides the form of causation while Set - II gives the
name of metaphysical entities as postulated by Sankhya Philosophy.

Set -1 Set - I1

(Form of causation) (Metaphysical entities)
(a) Cause only (i) Purusa
(b)  Effect only (i) Tanmatras
(c) Both cause and effect (i) Sensory and Motor organs
(d) Neither cause nor effect (iv) Ishwar
(v)  Prakriti

Code :

@ () © @
1) ) @ @) ()
@ @ O ) G
G @ 6 © (@
@ v G @ o

7.  The ultimate purpose of Gandhian education is the :

(1) Creation of a classless society

(2) Promotion of human beings
(3) Development of a human and awakened society
(4) Salvation for all

8.  Sri Aurobindo’s idea of supermind implies that :
(1) Darwinian theory is relevant, hence education cannot do much
(2) The task of a teacher is to uplift the awakened consciousness of human beings

(3) A teacher has to integrate psychology, biology and education in his/her teaching
techniques

Education can achieve its divine purpose through meditation

poos HIHIHIHIHI\IH\ (VI
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5. Sig ¥d 1 A e el TauRumsT & W& S h1 F9- il |

(i) STHEIAAR (i) SwTfa® (ifi) TS
(iv) FERR (v) drar=en (vi) AR
e

(1) (@), (i), (iii) 3R (v) () (), (i), (iii) 3T (iv)

(3) (i), (iii), (iv) 3R (vi) 4) (i), (iii), (iv) 3T (v)

6. TrefefEa 9 ¥ o gaferd wIfT | A - [H HRO-%E Gaiy feu 7 € St ¥ - 11 gieg 9
T wieha stdifs T <t E ¥

[T -1 [T - 11
( FROT-TTE Hae w @A) (G |ww)
(a) et BT i) e
(b) ke FH (i) B
(c) R R HE A (iii) M= IR FHHf=
(d) ¥ HR0 A FHHE (iv) TR
(v)
e
@@ () (9 (d
1 (v @@ @v) (i)
2 @) & (v) (i)
@ ) O () ()
@) (v) () @) (@)
7. Tietenet e w1 e qa ©
(1) oFRfgd TSl 1 o
(2) e S A ST
(3) A IR =T FAS T o
(4) Hoeh forT Ay

8. o sifa< & WY & fo=m @ a9 § for

(1) SRfa =1 fagid S T, Tafay a7 & 5/ 98 $© el fohal ST Fehd

(2) T frersh 1 HE THG H G AT DB TR IS ©

(3) st foraren o1 oTaNt fRreqor Tendient § HAITGRM, Stafaw iR freT @i wnfia & =fee
(4) foem, ©am gRT o709 S e B T Y TRl ©
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9. Below are two sets. Set - I mentions thinkers while Set - II consists of schools of thought
associated with them. Match the two and choose from the code to indicate your answer.
Set -1 Set - II
(Thinkers) (Schools of thought)
(@) A.J. Ayer (i)  Linguistic analysis
(b) Wittgenstein (i) Logical Positivism
(c) Bertrend Russel (i) Neorealism
(d) G.E. Moore (iv) Positive Relativism
(v) Logical Empiricism
(vi) Logical Atomism
Code
@ ®) © (@
O O @ & @
@ O @ G o
@) @ O ) ()
@ @ O @ o
10. Which of the following will not be assented to by Indian Constitution ?
(i)  Liberty, equality, fraternity and justice
(i) Republic and a Democratic society
(iii) Religion, God and Salvation
(iv) Racialism and Regionalism
(v)  Vasudhaiv Kutumbkam and Universal brotherhood
Code
(1) (@), (i) and (v) (2) (@), (i) and (iv)
(3) (i) and (iv) (4) (i), (iv) and (v)
11. By modernization is meant :
(1) Shifting to western mode of life
(2) Following the current fashion and modes of living
(3) Disassociation with traditions and traditional mode of living
(4) The process of adaptation in terms of current needs and life styles
poos [ THANRLANAN 6 Fapec
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11.

TV feumu &) V- 1Y foanel 1 Scorg fwan 71 € Sefs 9 - [T H 379 Heifid foamem

& 71 I TS B gAfA AT SR ST IW A F FAU WE FHe 1 9 R

qT -1 qT - 11
(o= ) (To=memT)
(a) TS = (i)  wmeTE-fageryo
(b) foeifimesa (i) Ik fademER
() 9T T (iii) o Femearg
d) I W (iv) fagarmes AeER
(v) difheh STIWEET]
(vi) ifeheh TRHTILETS
e
@@ () (9 (d
®» ® @@ © @)
@ @ @ @) (V)
G @ @ (v ()
@ @ @ @) (V)

frfafea ¥ @ fFa arda Sy gr Tgafa & < s 2
i) TEdAd, FEECL S IR =

(

(i) TTIRRY 3R TrhdiTh THTS
(i) =, TR IR W

(iv) &R iR SfaeramErg

(

<

(1) (@) (i) IR (W) @ (), (i) W (i)
(3) (i) 3R (iv) (4) (i), (iv) 3R (v)
SYfhTRTT § e ¥

(1) OeTe Sshad St i SR TR |

(2) vafe T T WwA-Fed o Sl o1 STged |

(3) TRFRI TS TOERATA Sfe et § foerma |

(4) foomm sTeeeRast Td St Aol & T # sThad & ufshan|
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12.

13.
14.

15.

@) (
yooss [

Which combination of the following factors tends to slow down the progress in education in
India ?

i)  High interest rates on educational loans

il Regionalism

~"

iii) Urban way of life

v) Less emphasis on training of teachers

(
(
(
(iv) Ethnicity
(
(

vi) Scarcity of ICT resources in schools

Code :
(1) (), (i), (iii) and (iv) (2) (i), (iii), (iv) and (v)
(3) (i), (iv), (v) and (vi) 4) (i), (iv), (v) and (vi)

Which one of the following is an example of social mobility ?

(1) En masse withdrawl of learners from school by their parents
(2)  Shifting school to a far off place

(8) Weekend visits to villages by city dwellers
(4)

4) Deputising village youths in Indian Army

The concept of equalization of educational opportunities implies :
(1) Providing books and uniform to learners

(2) Providing resources to learners as per their ability

(3)  Encouraging learners to study as many subjects as they can
(4)

Optimising learning conditions for success in school board examinations

Which of the following combinations will represent the disadvantaged section of Indian
society ?

(i)  Tribes (i) Religious groups (iii) Slum dwellers
(iv) Contractual labourers (v) Scheduled Castes (vi) City dwellers
Code :
(1) (@), (i), (iv) and (v) (2) (@), (i), (iii) and (iv)

i), (ii), (iv) and (v) (4) (i), (i), (v) and (vi)

)
|
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14.

15.
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IRa § fr=ifera o 9 foF wRept 1 Aftsg e w6t waifa <t afed wRar €2
() s HOT W I =S I

(i) &

(i) ¥rEY Sfe et

(iv) e

(v) Tl o gfreor W &8 9

(vi) foenem=l § a1 Sew Yenfitnt & SEEl S Sl

< :

1) (), (i), (i) T (i) (2) (), (i), (iv) T (v)
)

3) (i), (iv), (v) T (vi) (4) (i), @), (v) T (vi)

(
(
gk Tfeiterdr st feiferd § | -1 30 7 ?

(1) stfqvreehl grT o9 faenferl o1 o Smm w fafed= |
(2) TSI % WM W foTae™ Sl TEidid & |

(3) ¥R % fenferdi grR1 Twme & Tiia 1 9HT |

(4) AR A H Ao genedi ot i |

Sifereh STaERl St THM St TFERON 61 FAfgaed §

(1) foenferi 6 qEash wd o gt S |

(2) forenfof=i s 3T AFAATET GHEA ITAH HIAT |

(3) Torenfef=ri =1 sifuemiferen fawal sl Hiwm o fau dieafed )

(4) Toremer smuia wdeneti | Thadr &g At ol gRftafal s geaq s

4

freiferd o & SHET 1 -9 ARG IRAT 9919 & ST gosmetaa Serl s gfafie
K

()  SH-SufaEr (i)  enfHe g (iii) Ao ot frare
(iv) dfogepa gfte (v) STgfaa snfaat (vi) vl farst
<< :

1) (), (i), (v) T (v) (2) (@), (i), (iii) T (iv)

3) (i), (i), (iv) T (v) 4) (@) (), (v) T (vi)
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16. Which of the following aspects focuses more on physical dimensions ?
(1) Concept of development (2) Concept of growth
(8) Concept of change (4) Concept of learning
17. Identify from the list given below the correct sequence of concept formation. Select from the
code to answer.
List
(i)  Analysing the problem
(i) Facing the problem
(iii) Identifying the common elements
(iv) Perceiving the differences
(v)  Abstracting the common and non-common elements
(vi) Understanding the critical features
Code :
(1) (vi), (v), (iv), (iii), (ii) and (i) (2) (i), (i), (iv), (v), (i) and (vi)
(3)  (@v), (v), (vi), (i), (ii) and (iii) (4) @), (i), (iii), (iv), (v) and (vi)
18. For ensuring effectiveness in organizing educational programmes which areas of individual
differences in students will be of optimal value ?
(1) Physical characteristics of students
(2) Racial characteristics of students
(8) Psychological characteristics of students
(4) Moral characteristics of students
19. Below is given a list of five types of learning indicated in a hierarchical arrangement as
mentioned by Robert M. Gagne. From the code given select the correct hierarchy to show
your answer.
List
(i) Signal learning
(ii) Chain learning
(i) Rule learning
(iv) Concept learning
(v)  S-Rlearning
Code :
(1) @), (v), (ii), (iv) and (iii) (2) (), (), (iv), (v) and (iii)
(3) (i), (ii), (i), (v) and (iv) (4) (i), (iv), (v), (i) and (ii)
pooss [ 1EREITIRRRI 1 Fapert




16.

17.

18.

19.

poos ||

freiferd B -1 9a7 IR ST&M W SR @1 € 2
(1) foE =1 T8 (2) dfe =1 sTayrEn
(3) URERA &I sTEYR (4) I T STEEREn

= geT I | g v o W@ ST 1 98 HIfT | IW R He W =TI i

() TwEn & favero
(i) EEET A &R

(iii) FHM 3T AT TGEH HTA

(iv) SR @Al

(v) 99H wd e ofel o1 STl
(vi) Shif=<Ieh foRIsti o1 STaeiY

e
(1) (vi), (v), (iv), (i), (i) T () (2) (i), (i), (iv), (v), (i) T (vi)
(3) (), (v), (vi), (i), (ii) T (i) 4) (i), (), (i), (iv), (v) T (vi)

Jferr HRIHT S § gefaar gHfea w7 fomnfiEl § sfara fisar % @ 9 g
AT e T ?

(1) Tornfef =t wifes foroamd
(2) foenfe=i =t Sfara faoand
(3) faenfefai =t wemm favmand
(4) foenfei =t faw fagoand

1 U7 YRR i AT Fehransii s g < 7 © o e wh. 19 & saferenm o s e ¥ ued
Fe U W& AMHT S A T ST W T |

ksl
(i) Hend e
i) et AferH

<< :
D) @, (v), (i), (iv) T (i) ) (@), (), (iv), (v) T (i)
(3) (i), (ii), (i), (v) T (iv) (4) (i), (iv), (v), (i) 9= (ii)
RN u




20.

21.

22.

23.

Which of the following forms part of the revised basic types of Learning in Tolman’s
system ?

(1) Latent learning (2) Field cognition modes

(3) Reward Expectancy (4) Place learning

Who developed the concept of ‘Functional Autonomy of Motives” ?

(1) Mcdougal (2) Atkinson (3) Maslow (4) Allport

Which of the following principles is used in shaping behaviour in Skinner’s Operant
Conditioning ?

1)  Principle of keeping the response simple and specific

3

(1)
(2) Principle of keeping the response soft and sweet
(3)  Principle of successive approximation

(4)

4)  Principle of reward and punishment

The list given below embodies a number of statements in the context of adjustment and use
of defence mechanisms. Identify those which highlight the role of defence mechanism ?
Select from the code to give your answer.

List
i)  Giving time to solve problems that might otherwise may overwhelm us.

ii)  Ensuring ‘wellness life style’.

iii) Sidetracking the issues.

\4

~—

(
(
(
(iv) Unconscious use to promote comfort level in life situations.
( Facing the challenges straightway.

(

vi) Offering explanations which are plausible.

Code :
(1) (@), (i), @v), (v) and (vi) (2) (i), (iv), (v), (i) and (ii)
(3) (@), (i), (iv) and (vi) 4) (v), (i), (i) and (iii)

voosss | EITHANRAN 5



20. 2IeTHA i Gt it yonelt § ifnm i feret yehRaret § ford wnfuer feman e ¥2
(1) o= siftrm (2) & HIH FhRAl
(3) YRR YAl (4) TH-AfH
21. ‘UTeR! Sl UehTAIcHeh TETAT’ i SR o fohfaa i ?
(1) HEFE (2) wefE (3) el (4)  steTe
22. &R & ‘oo stered’’ § eeR-To o feiferd § | -1 fagra uge 2rar € 2
(1) TR o WA W@ faftre I e &1 fagr
(2)  SAIfRAT I T TE B Il Fag
(3) UraTd-gfeehed w1 fag
(4) TR T U & fagr
23. 9 < g g H UHesH UH W & STIUEN 9§ e e ed fu gu €1 A weHl bt qeaH
FHITTT ST TR bt et W JehTe S €1 Fe ¥ FAh W AT
it
() TEEHSTl % T o foU 99T S ST o SR L @ |
(i) ' gfeera Sfte el 1 ieTed T |
(iif) FHENSAT I TAHAR KT
(iv) Sired ot aRfEafa | gotar &1 agen < 7 $Toad €9 § U |
(v) A ST ST WA T |
(vi) T SARATT J&I T |
& :
1) (@), (@), (), (v) T (vi) (2) (i), (i), (v), (i) T (i)
(3) (), (i), (iv) T (vi) 4)  (v), (i), (i) T (idd)
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24. Given below are two sets which describe the Indian model of personality. Set-I provides the
list of ‘Sheaths of body’ called “‘Kosha” and Set-II indicates names of various types of body
with the associated principal element. Match the two and indicate your answer by choosing
from the code.

Set-1 Set-11

(Sheath of body) (Name of body and the principal element)
(a) Vigyanmaya Kosh (i) The concrete body + Earth
(b) Manomaya Kosh (i) The state in body between subtle and concrete body +

Water
(c) Pranmaya Kosh (iii) Subtle body + Fire
(d) Annmaya Kosh (iv) Causal body + Air
(v)  Absolute causal body + Akash

Code :

@ (® (9 (9
1 O @@ @) (@)
2 @ @ (@v) (i)
@) (v G @ @
@) (v) @v) (@) ()

25. In Hull's ‘re-inforcement theory” which of the following was postulated as intervening

variable ?
(1) Drive Condition (2) Reaction Latency
Reaction Amplitude (4) Excitatory Potential
jooms H|H|H||H RN 1 Fapec




24, T 9= U g E 1 Al & AT FTqwH 1 foomor od € | a=rd - 16 e’ o1 A e
TN € T W= - 11 H fafis TR & IR TohRATd U 3ok Y& 7 Hied 2fTa €| SHi 9=l
e SIfSIT dem e | == id TR gL Fel SR aarzl |

= - 1 = - 11
(=hT9T) (IR T T TS UHE )
(a) o= =@ (i) TS IR + gealt
(b) TAMEI D (i) YG&9 T A IRR & 7 hf feafd + S
(c) UM IS (i) F&H TR + 31
(d) SIS (iv) RO TR + 91

(v) RIS + SRS

1 © @ G (@Gv)
2) @) @& @v) ()
3  Gv) (@) @) @

@ (v) @Gv) @) (i)

25. Bod o ‘Yoo g’ & 3Tria fetaied § 9 fR8 qededl =) o ©9 § SUhfeyd foRar = 2

(1) 3T=<ig g9m (2) wfafshan sTeaeR

(3) fdfskan smamw (4) o fava
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26. In the two sets given below - Set - I provides operant conditioning procedures and Set - II
offers their descriptions in terms of cue being present or absent, the mode of re-inforcement
- positive or negative and response made/withheld. Match the two and indicate your answer
by selecting the code given.

Set -1 Set - II
(Operant conditioning procedures) (Descriptions in terms of cue and
re-inforcement modality Response made/
withheld)
(a) Reward training (i) Cue absent, response withheld and

positive reinforcement

(b) Escape training (i) Cue present, response made and negative
re-inforcement

(c) Active Avoidance training (iii) Cue absent, response made and negative
re-inforcement

(d) Omission training (iv) Cue absent, response made and positive
re-inforcement

(v)  Cue present, response made and positive
re-inforcement

Code

@ () (o9 (d)
1) Gv) @) @@ @)
@ @ @ @) (@)
®) @) @@ @) (V)
@ (v @ @ (i

27. For arriving at Classical Conditioning Paradigm which of the following was used as the
independent variable ?

(1) Magnitude of Response

(2) Resistance to Extinction

(3) Spontaneous Recovery

(4) Number of C.S. - U.S pairings

28.  Which of the laws of learning given by Thorndike had to be revised ?
(1) Law of Exercise (2) Law of Readiness

(3) Law of Effect (4) Law of Belongingness
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26. = fou gu <1 w=i § - Wy - 1 SRy sTeme ot Ugfadl ol Jardl § a0 9 - 11379
qraf-ed foeRo 1 gae Hohd i uTeefd, Tafrd, Joe Sl JhRAl - HhRIcH, ThRIcHE a1
STAFSRAT 3T A1 3Ta%5 AT, SATA AT €| Q| T bl GAAT hd gU Fe TR IR TS |

A= - 1 = - 11

(foramga STereM i Ugfaar ) ( Y&t Hehd, ToeT YehTdl Ua TRl 3w/
3TEG, o IR W farawor)

(a) JTERR gfdreror (i)  ToCH Hohd AT, IR 3T6%G T8 HhRIcHS
EEGE]

(b)  TIEA HiEor (i) Yo Hehd IUTked, 3TfRAT 3T+ T ThNIH
EEGE]

(c) URER gfvemor (iti) e Hohd 3TIUfEerd, STfRAT IcU= T ThNIcH
EEGE

(d) 31RH gfrero (iv) e Hohd STUIe, TR 3T Tl HhNIcH
EEGE]

(v) Tee Hehd 3ufierd, STfoha 3o TH HehNIcHe

PENE]
< :
@@ () (o9 (d)
1) (v) @) @) )
@ O @ @) @)
3 @) @) @) (V)
@ ) @ @

27. FATER! STIEA gfaa o gfdared gq fifed & 9 ford frafsd =x & &0 o vy fohan e ?

(1)  3T3fshaT ki AT

(2) faeig = 9fd sEy
(3) T@d: g
(4) STERUd - IR (31.3.) SALAHd ek (3M1.3.) ok JTHA il HE&

28. dFeRd N Yfadifea Iferm o form o =l Henfya e ae1?
(1) Y o | (2) a1 |

ERICICIRE R (4) eI w1 I
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29. In measurement of which of the following types of intelligence an optimal age level is
considered pertinent ?

(1) Cultural Intelligence (2) Emotional Intelligence
(3) Spiritual Intelligence (4) Cognitive Intelligence

30. Who developed the concept of group factors in intelligence ?

(1) Burt (2) Spearman (3) Thurstone (4)  Guilford

31. Which of the following set of statements is correct in the context of Guidance ?

(i) Guidance is a personal help

(i) Guidance leads to self regulation

(iii) Guidance focuses on problems rather than on individual

(iv) Guidance considers individual differences as a basic starting point
(v)  Guidance service can be organised with various time lags

(vi) Guidance is panacea for all ills

Code :

(1) (@), (i) and (iii) (2) (i), (iv) and (v)

(3) (i), (iv) and (v) 4) (@), (i) and (iv)

32. A teacher discusses in depth the problems and challenges being faced by a student with a
view to help him/her to arrive at a decision. Which of the following modality of Guidance
will designate this situation appropriately ?

(1) Counselling type (2) Vocational Guidance type
(3) Educational Guidance type (4) Information, Exploration Technique type

33. Which of the following tools at a Guidance Centre can be used for ascertaining prospective

success in a chosen occupation ?
(1) Achievement test (2) Interest Inventory
(3) Differential Aptitude test (4) Personality Inventory
34. For an effective non-directive counselling session, which one of the following will be most
essential ?
(1) Training of the counsellor (2) Establishing a rapport with the client
(3)  Expertise in using tests (4) Conversational fluency
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29.

30.

31.

32.

33.

34.

5 (T91) & fFT YR & A9 g ST STIER I GG HHT € © 2
(1) HIERid® G- (2) eI YAl
(3)  ameATfcHe: U=l (4) HAEHS Gl

gfg ¥ ' g FReh it TaERon’’ fhe yfqwfed fowan ?
1) = (2) T (3) u=A 4) frawe

e % vy § frefafed § 9 el 1 HH-91 9= &l § 2
() Trdem uw Ao geE R

(i) M @-HawA Bt AR o S R

(iii) e =afo &l oTde THensl W ad <1 §

(v) Trdem, safeama fusar 1 urfres famg o €1

(v

(

) T SaTd #E wEe e |igd SATitSIa Sl ST Hehdl € |
vi) Trdem gt guensii & fore Tmem ¥
He
(1) (), (i) T (i) (2) (i), (iv) T (v)
©)

3) (i), (iv) W (v) @) (@) (i) T (iv)

fordl B ®I HIE U o & 3ITT ¥ WIEA HH g T 10876 396 gNI STINA IHEsT o
AT o R | T ¥ ufeEt o ®1 frefafed § 9 fem & F-5 yerar g9 afitffa w
ST &Y H 1 et €2

(1) SUSIEE YRRl 2) dfaek A gehral

(3) ek FE¥M Fepra (4) AT, ST YfATY YRR

ferdlt 9 TU T | WoheTdl shi GrTaIst o Siieher g Fifehd | | for Suertvll o1 fEem e

TR IYANT fohan ST Tehdr § 2
(1)  fooafa wvamo (2) wf= it
(3) fades-afusma weam (4) AR e

T TSTcHS SUsieq-g3 g Fifehd o | hiA-91 3Tca= 39 © ?
(1) SYsiErsh 1 Ffereqor (2) Haneff & e T
(3) TRIEN o YAN § For (4) SAiCTdE JaTgH
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35. Match the following two sets. In Set - I the different Guidance Services are given and in
Set - II the Role/Functions of these Guidance Services are described. Select the correct
answer from the given alternatives.

Set - 1 Set - II
(Guidance Services) (Role / Function)

(a) Occupational Information Service (i) Gives information about the
characteristics - strength and weaknesses
of a person

(b) Placement Service (ii) Provides information about world of
work

(c) Follow-up Service (iii) Provides suitable engagement as per the
vocational preparedness

(d) Individual Inventory Service (iv) Takes up a view of how things are going
on after entry into the specific job

(v)  Provides opportunity for understanding
oneself in a realistic way

Code

@ (b) () (d)

W @ @) @) 0

@ () @ ) o

@) O @ ) G

@ @ @ v 0

36. A college librarian plans the purchase of books keeping in view the demand of different
books among students. Which of the following measures of central tendency would be suitable
for this purpose ?

(1) Mean (2) Median (3) Mode (4) Geometric Mean

37. The main difference between ‘Laboratory Experiment” and ‘Field Experiment’ is in :

(1) Precision in measurement of variables

(2) Degree of control of extraneous variables

(8) Use of data analysis techniques

(4) Application of research instruments

38. An investigator wants to conduct a study to ascertain the progress of implementation of RTE
Act - 2009. Which of the following research tools would be most suitable for this purpose ?
(1) Rating Scale (2) Questionnaire (3) Observation (4) Sociometry
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35.

36.

37.

38.

= fou gu <t w=ai 1 gafera e ageer - 1H fafvs yer 1 fdem Sad sfeafed § e
| - 11 H 37 Jansii st fiest/ g <9 T3 § | W@ ST g9 o fosedl § § gAE St |

= - 1 e - 11
(Fdom ard) ( yftreht/ wentet )
(a) i AT Ha () = w foRvarst-wfed & HwasIRaEl & 9 ¥
RIS
(b) A Fal (i) PIEISTTA o T H AT AT
(c) Tgadl Han (ili) HAAHINTR AT o STER T IUIH Fleraad
(d) Al diferst Ja (iv) Tordt @mE gfa & gomioR o1 8 @1 § 39 9N o
STRIST & T |

(v) I o TR R S hl FHH o STAER <A

< :

@ () (9 (d
L @) @) @) @
() (@) @@ @) (V)
G @ @) (v) (@
@4 @@ @ v O

Teh hicisl kT EAehR1EAe] B o siiel fel- e q&aehl ot AT 1 &9 § Tad gU Iishi i Ted &t
ST ST 1 e g ot fefafea SiF-a1 a1 39 g & fag Saged 2o 2

(1) \EHH (2) HEH® AH (3) g HH (4) SHIMECE AEEHE

‘TR W' SIR ¢ & i § g o frefafed # dan e
1) =@ & #9 H aRgsdl
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(2) @ = W A R A

(3) U forgetour qeheieRl 1 TN
(4) STIGHUM IUHIUN I FAM

Teh Toueh STRAS. (foen o sifuer) sifafad - 2009 & waf=eA &6t wifd 1 A= w5
% foTu W 7ea ha =real © | Frafafad § @ SF-91 SA7He™ Sl 380 FareHe gad e1fue

U BT 2
1) faRv-wm (2) gt 3) G&w (4) wESIHfA
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39.

40.

41.

42,

43.

A researcher used t-test to compare two means based on independent samples and found
the t-value to be significant at .05 level. This means that :

(1) Chances are 5 out of 100 that the difference between means has occurred due to
sampling errors.

(2) Chances are 95 out of 100 that the difference between means has occurred due to
sampling errors.

(8)  If experiment is repeated 100 times, it would give the obtained result only 5 times.

(4) If the experiment is repeated 5 times, it would give the same result every time.

A researcher uses both t-test and F-test on the same data obtained from two groups. The
functional relationship between values of t and F if calculated would be :

(1) t=F (2) t>=F (3) t=F? (4) t*=F?

Below are given two sets of statistical tests of significance. Set - I lists the parametric tests
while Set - II provides their non-parametric counterparts. Match the two and give your
answer by selecting from the given code :

Set -1 Set - I1

(Parametric Tests) (Non-parametric Tests)

(a) Independent t-test (i)  Chi-square test
(b) Dependent t-test (i) Kruskal Wallis H-test
(c) ANOVA F-test (iii) Mann Whitney ‘U’ test
(iv) Willeoxon T-test
Code
@@ (b) (9
O @ 6
@ G O @
@) (i) @) ()
@) @ 6 ()

In a normal distribution of scores, the percentile rank of a students scoring at —1Z is :

1) 16 2) 34 (3) 48 (4) 68

In a sample distribution with N =300, M=60 and SD =12, the number of cases falling above
the score 48 will be :

4 (3) 184 (4) 48

(1) 252 2) 20
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39. e INHT A T Hiaew R ARG G HeATHI bt ger1 i o forg S-adteror s ganT fohan R

T foh .05 TR W -1 H1F W § 1 55 19 § TR

(1) 39 o1 S urae § fob weemml 6 o= 100 § | 5 iR gfaeet Ffedi & wror a1 )
(2) TH I I e § foh HEAAET & W= 100 H ¥ 95 ST Yfawt JfeAl o HROT AT F |
(3) AfE TN 1 100 IR ST ST Al SHH T TROTH hael 5 FR 9 R |

(4) afc 9ANT =l 5 IR SR ST Al 36 8 o) &l IRomd gred g1 |

40. U ST < TR W T S YT W - wieror SR U - qieror S ol WA YT | IO
R’ R TE' F M o YRl HeE g
(1) t=F (2) t>=F (3) t=F? (4) t?=F?
41. I ) Rl Hifersha wai % G fau | 9 - 1 H yefas wie fu T § SefE |9 - 11
H 3 sTuTafers wweRet faw e E 1 I B gAfad A feu T e H | oo 3w i
AT -1 |- 11
( wreifeTeR uteroT ) ( STUTEIfeTeR URIeToT )
(a) EEId dI-udiamm (i)  HE-TEEE T
(b) sTfyd S-ude (i) FHEhA arferst H-90&
(c) Thal I (TAET) Th-TL&T0 (iii) A fee ‘' -aleon
(iv) foorerm T-ade
<
(@ (b) (o)
1) G @ @)
(2) D) @ ()
(3) (D) (iv) (i)
4) @) (@ (i)
42. YTeAiehi o AT faaO § — 17 W fF YT HA STt STl 1 IqaHS SR ©
1) 16 2) 34 (3) 48 (4) 68
43. TH yfaey faawo § N=300, M=60 3R SD=12 T, 48 § ¥ i Wra oA arct sAfad &t
'H@T_@Tﬁ
252 204 (3) 184 (4) 48
Fooos \II\II\\II“IHII\HII\|||H\||\|HH||||H||“II\II\I\HII 2 Papec



44. If two variables X and Y have significant negative correlation, which of the following
statement is true ?
(1) X causes variation in Y (2) Y causes variation in X
(3) Xand Y vary together (4) Xand Y cause each other to vary
45. Match the items of Set - I with items of Set - II and select the correct code from the given
options.
Set -1 Set - 11
(a) Nominal Scale (i)  Superior performance in musical events
(b) Ordinal Scale (i) Performance scores on a spelling test
(c) Interval Scale (i) Listing students according to participation in
Co-curricular activities
(d) Ratio Scale (iv) Speed of students in writing words per minute
Code :
@ ®) © (@
W) (@ O @ )
@ O @) @ @)
@) @ O )
@) G @ @ 0
46. Two variables X and Y have a negative correlation coefficients of —.48. The proportion of
variance common to both the variables will be :
(1) 0.23 (2) 0.27 (3) 0.48 (4) 0.52
47. In a negatively skewed curve obtained after testing students, the correct inference about the
difficulty of the test would be :
(1) The test was easy.
(2) The test was difficult.
(3)  The test was neither easy nor difficulty.
(4) No statement about difficulty of the test can be made.
48. A method of sampling that ensures proportional representation of all sections of a population
is technically called :
(1) Quota Sampling (2) Systematic Sampling
(3) Snow-ball Sampling (4) Stratified Sampling
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46.

47.

48.

7fg T = X 3R Y H Sooia1a oncds: Tg-Hey § df fefafad 8 9 -9 U9 9 8 2
1) X, Y ¥ foran @ € ) Y, X ¥ furan o €
3) X3RY Ty fie 2 § (4) X3RYTH T H firan @ §

We- 1 7&1 ol We - [1 1 7el 9 GAfea shifee aen e Tu fashedl 9 @&t e %1 =79 Hifa

[ -1 [ - 11

(a) IR |G ()  Eifd wrEiEH | ITH TS
(b)  ShfHeR HTOH (i) o gEo § oI o 3R
(c) AaUe ot (iti) TSI Tfafafe | HeHiTar o SR BB ! Feldg HEl
(d) 3TIuTd A (iv) 9fd e wsal o forem # sl o6t 7ifd
<

@@ () (o9 (d)
1 @) @ @ )
@ @O @) @ @)
@ @ @ @) ()
4 (v) @) @) (@

= X R Y T FOMHF Te-Hael Nk — 48 7| QM1 =1 H THM =l 1 ST ST
(1) 0.23 2) 0.27 (3) 0.48 4) 052

THEIUNORIT Teh R0 TAWTHARR ot a5k o STER T T8I0 & M6 & IR § &t TIAH

(1) oo S o)

(2)  IaTor s o

(3) TR A W WA R T & HfSA o |

(4) T F FIfGH oh IR H g AR Tl AT ST Fohe |

yfaeeH &1 g fafy § S5en & it @1 aqwfas wfaftfuea gifea feen s €, @
Tl &1 H Hed © :

(1) el Yfdee= (2) YHafyd yfdee
(3) EHE Hfaet (4) A e
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49. For estimating maximum value of multiple correlation, which of the following conditions
should be met ?
I.  Independent variables should correlate high with the dependent variable.
II.  The Independent variables should correlate low with one another.
Select the correct alternative from the following :
(1)  Only condition I should be met
(2)  Only condition II should be met
(3) Both conditions I and II should be met
(4) Neither condition I nor II is necessary
50. Using equivalent samples, a researcher obtained a significant correlation 95 times out of
100 trials. He/She decided to reject the null hypothesis. The alpha level would be :
(1) .01 (2) .02 (3) .05 (4) .001
51. Approaches to sampling commonly used in qualitative research design are given in Set - I
and their characteristics in Set - II. Match Set - I and Set - II and select appropriate code.
Set - 1 Set - II
(Approaches to sampling (Characteristics)
in qualitative research)
(a) Extreme case sampling (i)  Seeks cases that are typical
(b) Purposive sampling (ii) Seeks cases that are highly similar to each other
(c) Snowball sampling (iii) Seeks cases that are unusual
(iv) Seeks help from participants to identify
additional participants
(v) Seeks cases according to his/her judgement
about the appropriateness
Code :
@ () (o
1 @ (v) (i)
2 @ @) @
(®) @) (V) @)
4) (@v) @) (i)
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49. A HE-HAY % AR AH A ke A & fau Frafafed § 9 FF-oF wd 9@ #t S
=18 ?
I Sdd =) bl oTfEd =X o 91y ATk He-Te g1 et |
II. TG = 1 Uk G o 1 H Hg-Ga e g1 =1y |
frfafaa § 9 @& fase =1 =9m ST
(1) %aa I 190 S =fen
2) Fod I I ht ST =1feT
(3) 13RI M1 g3 i < =fee
(4) T IR A I 10 3TavIE ©
50. TEER Ufacwll sl FANT S fohet TieeRal 4 100 T0&0l | § 95 o 3T Wiefs g-Hay T fohu |
3E Y IRRTUAT hl STaTehR A 1 Fofg fon | 59 Heie § sfewh & 8
1) .01 2) .02 3) .05 (4) .001
51. TUNCTE WY SAfReT H I TE Wiaed w9d W - 1 (¥e - 1) # fou T € o) e
ferdroamd wgere - 11 (Ve - 1) § < 78 § 1 92 - 137 Ae - 11 &1 gafad ST iR Suge §e &
I T |
AT -1 we - 11
(T[T v ( fergioad )
Tfaeei o Wid SUmTT )
(a) eTcEfas SR el gfaeeH (i) TEH fafire sl I oTdaT Bt ©
(b) HE¥ wideeE (i) THH UQ TR H oTven A O TH W @
31fereh THM o §
() T gfaesE (i) TEH STHTHT THIZAN hi YT Bl §
(iv) il seheal i Team w1 & foau gewfied §
T hi 31U Bl ©
(v) ST & Hoig § 79 ol o ST7HR gl &
<7 T 3TeT Bt §
< :
(@ (b) (9
1) @ (v) (i)
2) @) @Gv) ()
(3) (@) (v) ()
(4) (v) (i) (i)
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52. When you read a research article published in a journal which is not peer reviewed, what
aspect of the report should you be most concerned about ?
(1) author’s sincerity and skill in writing
(2) rigour reflected in reporting the research
(38) length of the report
(4) practical importance of the research question

53. Which of the following decisions will tend to decrease sampling error ?
(1) Obtaining representative sample
(2) Decreasing the sample size
(3) Homogeneous grouping of individuals
(4) Possibility of reduction of the sample size

54. A group of 10 students was randomly drawn from Class 12 and was given yoga training for
three weeks. Their wellness life style was compared with another similarly selected group
which did not undergo such training. Which type of statistical test will be appropriate for
testing the tenability of Null Hypothesis ?
(1) Independent t-test (2) Dependent t-test
(3) Wilcoxon T-test (4) Sign test

55. Givena Mean=100; S.D=20; and N =100. Which one of the following will be the correct
statement for indicating the possibility of population mean at 0.01 level of confidence ?
(1) Population mean falls between 93 to 107
(2) Population mean falls between 96.08 to 103.9
(3) Population mean falls between 97.2 to 102
(4) Population mean falls between 94.8 to 105.2

56. “While assessing the attitude of administrators towards a ‘women empowerment
programme’, a researcher had no preconceived notions about what she might discover, and
she continued interviewing until key themes emerge”. Indicate the paradigm of research
being followed :
(1) Ethnographic study approach
(2) Grounded theory approach
(3) Phenomenological study approach
(4) Case study approach
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57. A researcher compares two sets of curricular materials in order to determine which set is
more pedagogically sound. In the study, which of the following factors may act as source of
error ?

(1) Attrition (2) Content choice bias
(3) History (4) Subject effects

58. For the purpose of highlighting the characteristics of a particular group of children, which of

the following may be considered as the primary source ?

(1) A review of research published in the last 5 years

(2) A critical explanation of the psychological characteristics of children suffering from
Autism

(8) Findings of case studies of a group of children with Autism

(4) List of books on special education

59. A teacher prepares a test for measuring socially acceptable behaviour of participants in the
school programme. What type of reliability would be considered to be important ?
(1) Internal consistency reliability ~ (2) Split-half reliability
(3) Equivalent forms reliability (4) Inter-rater reliability

60. In the two sets given below, Set - I provides a list of attributes based scientific criteria and
Set - II offers their brief description. Match the two sets and select appropriate code for
correct matching :

Set -1 Set - 11
(Attribute based (Description)
scientific criteria)
(a) Parsimony (i) Knowledge should remain open to revision
(b) Empiricism (i) Interpretation of research should not reflect personal biases
(c)  Precision (iii) Knowledge should be grounded in observation
(d) Objectivity (iv) Explanations should be as simple as possible
(v) Research statement should be based on accurate
measurements
Code :
@ () ©
1) @ @) @ v
@ (v G ) @
@) G & @ @)
@ O @ @
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(3) STHATIHIE ¥ oK STeTehi dlcl T o SATKAl | Haifed ez o feand
(4) TR foren & deifua qwaehl o6t gt

Teh STEATIh ol II3dshA H HeHiEl & fole |t €9 § Wiiehrd HeRR &l J19d & fow Tk
T (3R) TIR A1 8| 38 faL fohe YR ot fareere e Hewerqut A S 2
(1) oTafer gaeyar faveerad ) fg-famfsa favaaaa

(3) HHHEY TEY hl faRad=rd (4) SAdHuRen favagHred

e e e < ¥ H § e - 1H o i St Aeee R e R SR We - 11 H SR Sfara i
e mn g1 1 BT 1 gAfAd wifee IR W@ gHer & fore 3fed e @1 =e wifae |

[ -1 |2 - 11
(ITUT 3TTERA AT WHES ) (wifre Fuie )
(a) fHaeafaa () 99 H e foman S oo ®
(b) SATHATEGAT (i) et sare (freer) § safaad geig aRefard
T B =few |
(©) & (iii) M, Y& W e S =fen
(d) TS (iv) TR FUTHYE ST B =T
(v) SATEYM oM (foaexo) 9igs #od 9 Ui
e =IfET
<< :
@ () (9 (d
1 @ @v) @@ (V)
) (v) @) (v) (i)
@) @) (v @ @)
4) iv) (V)
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61. The right to free and compulsory education at primary education level is ensured by our
Constitution under :
(1) Article 21 A of 2009-Act
(2) Article 21 B of 2002-Act
(3) Article 45 of directive principles
(4) Article 21 A of 2002-Act
62. Which of the following set of factors pose hurdle in achieving targets of Universalization of
elementary education in India ?
(i)  Materials to ensure minimum levels of learning
(i) Poverty of parents
(iii) Slackness in implementing related provisions
(iv) Availability of boundary walls and safe drinking water
(v)  Mindset of parents and teachers
(vi) Shortage of teachers
Code
(1) (i), (iii), (iv) and (V) (2) (i), (i), (v) and (vi)
(3) (i), (i), (iii) and (iv) (4) (i), (iii), (iv) and (vi)
63. Which of the following set of features represent the functions of Community Colleges of
USA?
(i) Low fee structure
(i) Locally situated
(iii) International quality education
(iv) Helping the deprived sections
(v) Helping the urban poor
Code
(1) (i), (iii) and (iv) (2) (1), ({), (iii) and (iv)
(3) (i), (i) and (iv) (4) (i), (iii), (iv) and (V)
64. Which of the following systems tends to practice utmost Centralization in Educational
Administration ?
(1) Primary education in U.S.A. (2) Higher education in Ireland
(3) Primary education in U.K. (4) Navodaya Vidyalayas in India
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61.

62.

63.

64.

frrefafed § & foroes sfarta gar dfaam g wafhe fren & R W .30 R iftard faan =
1R gffvea fomen o © 2

(1) 2009 & sifufrm &1 T ¢ 21 &

(2) 2002 % AfufTH =1 A=se 21 @

3) fifa frdwes fagidl w1 g 45

(4) 2002 % sfufm &1 TT=E 21 F

frefafed § § H-§ ®RE IR § gRfYS e & Ao & @ed U e | o Sade i
€2

() e =g W gtEa w0 & fag e

(i)  HIT-TYar skt Tt

(iii) T JAEM Sl AR wH H fears

(iv) =R <R SR W= T Sd &l Tl

(

vi) et = e
<

(1) (i), (i), (iv) 3R (v) (2) (i), (i), (v) 3R (vi)
(3) (i), (i), (iii) 3R (iv) (4) (i), (iid), (iv) 3R (vi)

frefafed # @ sF- fagvad 9,081, & FfEt S & el Sl g ¢ 2
i) hH Yook AT

ii) TR AR W STafeed

i) ST TR 1 TorErgol e

iv) dfad s ot HerEd

~

(
(
(
(
(

(1
3

) (i), (iii) 3R (iv) 2) (i), (i), (iii) 3R (iv)
) (), (i) AR (iv) (4) (i), (i), (iv) R (v)

frafafaa § § -9 yomelt & Jferes T 1 Tod SAfE HFhiol Bl § 2

(1) F.THET i wfhes fen (2) TR Wt IA e
(3)  J.h. =t wrafuen fuam | (4) 9Rd % Taiey fommerl |
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65. Which of the following combinations of learning resources gives a comprehensive concept of
Distance Education ?
(i) Mobile learning
(i) Opportunity for teacher taught interactions
(iii) Mass media
(iv) Use of creative instructional procedures
(v) LC.T.
(vi) Print material
Code :
(1) (@), (i), (v) and (vi) (2) (@), (1), (iii) and (v)
(3) (@), (i), (iii) and (vi) (4) (i), (iv), (v) and (vi)
66. Which one of the following is an essential part of the curricular designing process ?
(1) Demographic features of the community
(2) Development index of the parents
(3) Consideration of inputs, process and output of instruction
(4) Affiliation of the school to a particular school board
67. There is a maximum scope of change in curricular contents by the state boards of school
education in
(1) Demonstration Model (2) Administrative Model
(3) System Analysis Model (4) Grassroot Model
68. In which Curricular Model a school teacher enjoys maximum autonomy ?
(1) Demonstration Model (2) Administrative Model
(8) System Analysis Model (4) Grassroot Model
69. In which of the following approaches to curriculum design, constructivist orientation will be
manifest ?
(1) Job analysis of learning tasks
(2) Evaluation approach to curriculum design
(3) Concept mapping as a tool for curricular choice
(4) Input process emphasis on curriculum
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65. TreAfafEd § & ®F-9 AR Haree gre foren ot =e STaER YEH w2
() HIa A
(i) Toreren oIk BHEI & 9 TER o1=:fRanetl &1 s/
(it) STEER ATEAH
(iv) g 1A fafer s g
(vi) Hfsa s
e
(1) (), (i), (v) 3R (vi) () (), (i), (i) 3R (v)
(3) (@), (), (iii) 3 (vi) (4) (i), (iv), (v) 3R (vi)
66. T3FHA o ufshen o1 Frafafeaa # & wF-w1 T sifqard a2 © 2
(1) THSE i SHifhhF TR
(2)  Hrar-for =1 foehe geenisn
(3) STISYM % YL, UlshaT IR PYe W o= &
(4) fordt Tpet it fordlt faftre wpat A1 & Wy Fwelgal
67. Trfafed o 9 ford gfaam o 7 wha e ai€ g/ agashn i fawerng 4§ sifiean sqer feog
S ht TS Bt § 2
(1) 93 gfaam 2) emEfeE faaE
(3) ol foveror wfae™ (4) s gfaam
68. TrAfafaa § & frm wgashn yfon § what frersh 1 wod sifere Tamaman w2t § 2
(1) 93 gfqam 2) emEfe gfaae
(3) ol foweror wfaem (4) SRR gfaam
69. frfafed § 9 ugasy fufv & e Surm # wamER Afgeis wrwea: foaE am?
(1)  ATR™ SRl 1 FHE foweryo
(2) UISFHH THHI S HeAihT SURTH
(3) UISHHHA Tahed o HIEH o ®9 H STAUROMT-HHE=A0
(4) UIEIHH H TTYS Ufeha W & ol
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70. The concept of Formative Evaluation implies that :
(1) Benchmarking data should be considered essential
(2) Learning should be assessed at terminal stages
(3) Learning should be managed and monitored continuously
(4) There should be emphasis on gradation of students in terms of learning outcome
71. In the two sets which follow, Set - I contains the names of leaders of modern concepts of
Educational Administration and Set - II indicates their theories. Match the two and indicate
your answer from the code given :
Set - 1 Set - II
(Leaders of modern concepts (Specific theory contributed)
of Educational Administration)
(a) Frederick Winslow Taylor (i) Theory X and Theory Y
(b) Elton Mayo (i) Management systems
() Rennis Likert (i) Human relations movement
(d) Douglas Mc Gregor (iv) Scientific management movement
(v)  SOAR peak performance model
Code
@@ (b) () (d)
O 6 @ G @)
@ ) ) @) G
@) G @) @ o
@) @ ) @ )
72. Which combination of following characteristics correctly describes the Bureaucratic
Administration ?
(i)  Well defined rules
(i) Established hierarchy
(iii) Standard operating procedures
(iv) Good interpersonal relationships
(v) Combined responsibility of completing work
Code
(1) (@), (i) and (iv) (2) (@), (1) and (v)
(3) (i), (iii) and (iv) (4) (@), (i) and (iii)
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70.

71.

72.

FrToTcHe: i & sTaERen # fefafed o 9 @ sfafifed €2

(1)  S=mfhT el I STfam | ST =1feu |

(2) ifom =il § afenmm 1 SAieher feoran ST =few |

(3) T T TAd Yele iR A0 S =

(4) AT 9RO T 3fie § BHEI & IS YSH T R 9 o7 S =mew |

e fou e < B H A - 1H Deforen gemae i s staemensti & wfaueshi & A feu e
3R ¥ - 11 H 37 fagr few T €1 <1 1 gafad swifse oik = fe 1T % =it dema 9 3w
difSa

qe-1 qe - 11

( SrerfuTen WOTE <Rt SYfTeR ( e wmar fav fagr= )

JFYURUTTST o UfraTaeh )
(a) Trefe faeel Ter () Tosm X du gy
(b) TEHA WA (i)  WeiEH yomferar
() Y8 fa=we (iii) AFE HeY A SATEEH
(d) =T B TR (iv) SR GeiEd Heer

(v) TESNTAR. P HETIR Jiadm

< :

@@ () (o (d
1 @ @) @) ()
2 (v) (v) (i) (i)
®) (@(v) @) @ @
4) (@) (@(v) (@) (V)

<
(1) (@) (i) R (iv) 2 () (i) 3R (v)
(3) (i), (iii) 3R (iv) @) (i), (i) 3T (iii)
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73. In the two sets given below Set - I specifies the type of power exercised by an Educational
Administrator and Set - II gives the description of these powers. Match the two and select
your answer from the code.

Set - 1 Set - II
(Type of power) (Description)
(a) Coercive power (i) The perception that the administrator has relevant
education and experience
(b) Reward power (i) The perceived attractiveness of interaction
(c) Legitimate power (i) The perceived ability to provide things liked by the
members
(d) Expert power (iv) The perception that decisions taken by the administrator
are appropriate in terms of role assigned
(v) Perceived ability to provide consequences for not
performing
Code :
@@ (b) (o) (d)
m 6 6@ 6@
@ ® @ ® 0
@ @ O @ @
@ @ ) @

74. There are two sets given below. Set - I describes Leader behaviour in terms of task and
relationship orientation while Set - II mentions the Leadership style. Match the two sets and
give your answer by selecting an appropriate code :

Set -1 Set - 11

(Leader behaviour) (Style of Leadership)
(a) High task and low relationship (i) Consulting style
(b) High task and high relationship (i) Delegating style
(c) High relationship and low task (iii) Selling style
(d) Low relationship and low task (iv) Telling style
Code :

@@ (b) (o) (d)
1 O @) @) (@)
(2) @) @) @) @
G O @) @ @)
@) (@v) (@) @ )
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73. < feu U S 9 H W W - 1 H Jeiforeh 9 g1 YA ki S STt ufekal o Seold § 3R

He - 11 H 37 vfoaal ot amen & 18 €1 <1 ! GAfad Hifae 3R Fe St Jerdl § W T =9
T |

e -1 e - 11
( Tfert AT YR ) (=are)
(a) THACTH Wl (i) I STAURUN T TRHF o UH Gaifera freq aon o1qva §
(b) YERR wfd (i) sfa:fsham =t gcAefisha sTehtehal
(c) au v (ili) TS GRI TS i S aTel SqQ UM A i Geaafieha &
CVBRELEERUES (iv) I8 STauRen fF wemes gr foe Tu ot gidt T yfe w

3t & 9 €
(v) Toared 9 & W 9Romd YeH i St Goaaiichd &

<<
(@ () (o (d
nH @ @ @) (v
(2 (v) (@) (@) @)
@) @@ @ @G (@iv)
(4) (@) @) () (v)
74, TRATRUME A2- 19 w6 @ Gy et #i gfic  Iga Hewr #1 3o ¢ STefh
W - 11 H Agca Aeft 1 3cor@ B 1 <1 W2l ol GHTAT ST T ST He Sl 997 Y IR TS |
qe -1 | - 11
(¥ TN ) (e Iredt)
(a) AT w1 & w0 Gay () TRl el
(b) oIfeh & WE A= WY (i) gt el
(c) of=s HaY Ud A FM (iti) STSYACHE el
(d) W HaY Td wH FwE (iv) Trcers et
<
(@ () (o (d)
1) @ @) @) (@)
(2) @) @@ (@) (@
3) (i) (iﬁ) (ii) (iv)
(4) (1) (i)
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75.

76.

77.

78.

A school principal plans the targets of activities and programmes to be undertaken in next
five years. This is an example of :

(1) Grassroot planning (2) Perspective planning
(8) System’s approach to planning (4) Micro planning

The basic purpose of educational supervision is to :
(1) Ensure better result of students in the board examination

2)  Ensure effective teaching-learning ambieance in the school

(2)
(3) Ensure maximum attendance of learners in the school
(4)

Ensure compliance of set rules and procedures

If the deviation of a score from the mean is given as 10 and standard deviation as 5, what
will be the T-score for the concerned raw score ?

(1) 50 2) 75 (3) 70 (4) 80

Categories of Tests are given as Set - I and their description as Set - II. Match Set - I with
Set - II and select appropriate code.

Set - 1 Set - 11
(Categories of Test) (Description)
(a) Standardized test (i)  developed by teachers for local purposes

to measure achievement

(b) Norm referenced test (i) wused for comparing individuals in terms
of their relative position

(c) Diagnostic test (iii) analysis of strength and weakness of
students for further help

(d) Criterion referenced test (iv) developed by experts, administered and
scored by using an objective procedure

v) raw scores are compared with some
p
pre-determined standard

Code

@@ () (o (d)
1 @@ v @O @)
2 @Gv) @) @) (v)
®) @) @) @) @)
4) @v) ( (i) (i)

v) (i)
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75. Thol S FUFEE 3T Ui At § fRT S ATt foRamshardl Td wrishEl % @l sl (it s §1
RIAERE I
(1) S 'R R e (2) uRuera fesH
(3) HAT-IINH W& A 4) g&w A
76. &0k THAET T A FASH © -
(1) =T & wensti § S & 95 gk gHfed s
(2) T H gyl R st araeRe giafea &
(3) Tpa ¥ sifrTHeRAts 1 Afeenad Sufkafa gifeea s
(4) Truifia fremi v fseansti 1 e gif=a
77. Afc fRE yTaich 1 HEAME 9 fa=e™ 10 € 3R e foerer 5§ @ 39 Urahid 1 S-HME 3 8 2
(1) 50 2) 75 3) 70 4) 80
78. e - 1T URe0l & YR R ¥ - I H 37! foeror fean T g1 | - 191 9e - 11 & |1 gafed
fRfIT &R =1 T T e 9 W& SW 1 997 HifaT |
AT -1 qe - 11
( TrETOT T YR ) ( fereoT)
(a) HMIRd TLeT0 (i) U HT A A F forw T yEeE 3 el
SN TR fohan e §
(b) W Gefa ademr (i) SRl 1 Afae fefa =t 3fe ¥ gam & & fag
YT feRam ST T |
(c) THemFHs e (ili) ST FEE & foIu S % A9Ed el 3R HHSIR 9 61
foreeteoT |
(d) TRy Hefifa e (iv) ToRw=l g0 Ao foRan S &, g faf¥ 1 weim shad
T A e ST § iR wreiiens fore < ¥
(v) Tt gd fauif@ oM & STER <l st el o
S 2 |
<
(@ () (o (d)
1) G (v) @ (@)
(2 (@v) @) @) (V)
@) (@) @) (@) @)
(4) (v) (v) (i) (i)
roooss |1 HITAANEAI i Paper.i




79. A multiple choice test consists of 50 test items. The difficulty values of items vary in a narrow
range with an average value of 0.48. The test gave a variance of 81 when administered to a
group of students. The reliability co efficient of the test would be :

(1) 0.91 (2) 0.86 (3) 0.78 (4) 0.67

80. The percentile rank of a student on a test was found to be 67. This means that :
(1) the student scored 67% marks.

(2) 33% students scored below his score.
(8) 67% students scored above his score.
(4) 67% students scored below his score.

81. A test having 20 items has a reliability coefficient of 0.60. If 80 more similar items are added,

the new reliability coefficient would be :
(1) 0.81 (2) 0.86 (3) 0.88 4) 0.92

82. Which of the following term is closely related to the meaning of the term “aptitude” ?
(1) Ability (2) Achievement (3) Capability (4) Potential

83. In the following list of statements identify those which are related to interactive stage of
teaching. For indicating your answer select from the code.

Statements :

(a) The teacher decides what to teach.

(b) The teacher organizes learning tasks and monitors them.

(c) The teacher takes a planned repetition.

(d) Learning outcomes are determined.

(e)  The teacher keeps students maximally ‘on task” and minimally ‘off task’.
(f)  The teacher assesses the learning outcomes.

Code :

(1) () (0 and () (2) (a), (b) and (©)

() (d), (e) and () 4) (@), () and (f)

84. In programmed learning who is said to be the proponent of ‘Adaptive programming’ ?
(1) Skinner (2) Gilbert (3) Crowder (4) Mager
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79.

80.

81.

82.

83.

84.

T ag-fasheda wde # 50 997 feu T § 1 9 Wl & HicArE TR % WHI § 9gd HH AW T Srweh
3id A 0.48 B | <19 BT o Teh WHE ol I8 TR0 TS T G SHRT THI0 81 T G371 | TRI&T0 <l
forgera=re T[uTieh 3R BT ?

1) 0.91 2) 0.86 3) 0.78 4) 0.67

fordt wiarm o T B 1 giduidios Yo 67 o11 3qent 31¢f ® o
(1) B 67% 3k I fohu T

(2) 33% BHEI & ik Tk 3TH F FH L
(3) 67% B! % ik Tk i W Aferw ¥
(4)  67% BT 7 WK 3Tl H HA 3 Y fw ¥ |

T T | 20 9 feu MU ¥ fgent favagHiaar ot 0.60 ¥ 1 afe 398 SH ¥R % 80 T IR
wnfhet s fore S € ot =1 fowarran Tonies 3= grm 2
(1) 0.81 2) 0.86 3) 0.88 4) 0.92

frafafaa § @ -1 9 * tfuemar’ ug & god 21fyes e §2
(1) Fr (2) 3udfed (3) &l (4) Sl

el ot Frfafad =t § 9 37 Al ot ugar wifeg, fSe dey e o sid:fsran fageryo |
71 = feu U Fe w weEd | W dfe

¥
(a) Toreren & fofa e € 6 <8 =0 e B
(b) Toreren siferm Heieh Sl 1 SIS AT © AT ST FRIETOT Hedl T
() Torers doHeg TRIgR X R

(d) Afere Heieh aftom fuffa g wm €1

(e) Toregen forenferi i eiferhan ' wRI-HTa’ qe =" ' HE -3’ W@ T
(f) Torersk stfermy afomdt w1 S Y ¥

<<

1) (), () 3 (e) @) (@) b) IR (Q)

(3)

sifirshfia siferm o T § ol ‘ sighe 1fsh’ o1 TR el ST © ?
(1) ThT ) T 3) I 4) WX

1) (2
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85. In the two sets which follow, Set - I indicates the specific devices and Set - II mentions the
stage of programme development. Match the two on the basis of their appropriateness.
Choose from the code to give your answer :

Set -1 Set - 11

(Devices used) (Stage of programme development)
(a)  Writing of behavioural objectives (i)  For introductory frames
(b) Priming (i) During withdrawl of prompts
(c) Prompting (iii) For shaping behaviour in steps
(d) Testing (iv) Prior to development of a programme

(v)  During small group try-out

Code :

@ (® (9 (9
1 O 6@ @) (@)
() @ (@) @) ()
G @O @ @) ()
4 @) @ @) (@)

86. From the list of statements given below which of them indicate the meaning, purpose and

scope of Educational Technology. Give your answer by selecting from the code.
(a) ET optimises learning outcomes.
(b) ET reduces the cost of education.
(c) ETis user friendly.
(d) ET ensures effectiveness of learning outcomes.
(e)  ET has a tremendous role in rendering teaching-learning systems effort effective.
(f)  ET is the outcome of communication’s network.
Code :
(1) (a) (b) and () (2)  (d), (¢) and (f)
() (b), () and () (4)  (a) (d) and (e)
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85. o <& T < gfedi § | we - 1H fafere gfafemr < meh € qeon gt - 11 H sifvsrm o o1 ==
feon T B 1 et SUgEAdT o SMUR W SHI el ol GHferd | W A o foTT e 1 T |

et - 1 e - 11
(fafyre |rem) ( eifreRn faerTa T =/OT)
(a) RN Heidh Il =1 @A () T TGN T
(b) WAfEEH (i)  STIAE TR & IRH
(c) STIAIEA & (iti) =R H YRR T L T
(d) TheTr KT (iv) sifehH fae @ 4@
(v) B T & AW F SR

e

@@ (b) (o) (d)
1 @ @ @) ()
(2) @) () (@v) (V)
G @O G @) (v
4) (v) (@) @) ()

86. = fu 7T el &f G H | FF-Y A N0k UrefiTeht < 37ef, TS o SR I 3R d ¢ |
e HT TN LI G IW S |

(a) erforr drenfiert (2.) siftrm uftomdl S SR FA 7

(b) Srerforek Yrenfirht e 1 ARTG 1 FH A S

(c) Sretforer drenfirert yeiiem STee et © |

(d) Pefores drenfirent stferm afomdl st geEeRTan ghafvea S g
(

(

¢)  TRTaTUI-STfeRT YOG B et STy F Sreafores SNt Y g e § 1
f)  Srerforer TNl GER Aead w1 9oy 1

% :

(1) (@), (b) ¥R () (2)  (d), (e) 3R (f)

)
3)  (b), (o) R

( 4 f ) 7
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87. In which of the following Communication Model, there is optimum scope for encoding and
decoding messages ?
(1) International Model based on learner participation
(2) Distance Learning Model based on use of Information and Communication technology
support
(38) Discussion-cum-Lecture session model conducted by the teacher
(4) Transactional model based on collaborative projects
88. Optimum use of the ‘Principle of successive approximation” has been empirically demonstrated
through which model of instruction ?
(1) Model of school learning
(2) Programmed instructional model
(3) Concept attainment model
(4) Basic teaching model
89. The Duchenne is the most common type of :
(1) Spina bifida (2)  Multiple Sclerosis
(3) Muscular dystrophy (4) Traumatic Brain Injury
90. Which of the following statements is correct in the context of students with learning
disabilities ?
(1) They show perceptual impairment affecting perceptual skills such as thinking and
reasoning.
(2) They learn in the same way as efficiently as their classmates.
(3) They display academic performance higher than expected.
(4) They have the emotional problem which is one of the primary causes of their learning
disabilities.
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87. Trfafea @ fre HOr yfaw™ # Towil o Hehad Ua fagehad ol Tord 31fueh HerT € ?
(1)  rferrmeRdl et W eenfd St gfaem
(2) I W@ HER Uit Tedl o SUENT W STHIRA ge 1 faam
(3) Teer gR1 = S aren F=i-He- A 63 YiaHH
(4) RIS IRESHIS W IRy franfafawit gfamm
88. firerur o for gfam™ & A1 | Ao Aietehed o TG 1 T 3Tfee ITAM sTvaris &9 9
wefid e @ ?
(1) %hal AT 1 idH ™
(2) i STReE %1 ahEe
(3) SN HYM FiqAH
(4) ¥ T wiqE
89. =M fm H | fohwer o = &9 § 2
(1) T fafwer (2) g Ffe=
(3) eI Sfefsm (4) e AREw =
90. Trfafed o 9 ®E-W weA w3 ol Sl o ey § Wa § ?
(1) ST YT geicrdl Bl §, Ted G a1 7o i Helel JTeTieh hivret guifed g 2 |
(2) 9 T Heufedl & THH € WeIHAT % WY HEd ¥ |
(3) o IHIG H ST A0k FE¥H A © |
(4) SH! HIE MG THET Bl & iR A Heleht Set 7. 3rerqan 1 Tk A RO
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91. Match the following two sets given below. Set -1 consists of terms related to specific deviations

and Set - II consists of resultant impairments.

Set - 1 Set - II

(Terms denoting nature of deviations) (Resultant Impairments)

(a) Cerebral Palsy (i)  Problems related to reading words and
letter

(b) Congenital Cytomegalovirus (i) Characterised by rapid, involuntary
movements of eyes which make it
difficult to focus on objects and causes
dizziness

(c) Dyslexia (iii) Disorder related to movements and
posture

(d) Nystagmus (iv) Herpes - related viral infection causes
hearing loss

(v) Disorder related to farsightedness
Code :
@ () (9 (d

1 @) @ @O ()

@ @@ v @O (@)

(3 (v) @) @ ()

4 (@) @v) @ @

92. Match the following two sets. Set - I consists of terms related to refractive disorders, retinal
and optic nerve problems. Set - II provides description of those terms. Select the correct
code for indicating your answer.

Set - I Set - 11
(Terms) (Description)
(a) Astigmatism (i)  Itoccurs when the flow of fluids in the eye is restricted
(b) Glaucoma (i) Itis a hereditary disorder that causes degeneration
of retina
(c) Hyperopia (iii) Itis the result of improper functioning of muscles of
eye(s)
(d) Retinitis Pigmentosa (iv) Itismostcommonly known as farsightedness, results
from the failure of cornea
(v)  Result in blurred vision, caused by an uneven curve
of cornea or lens of eye
Code :
@ () (9 (d)
M @ @O @) (i
2 @) v @O @
(3 @) @) ) @O
4 @ (@) @) ()
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91. Trefafea 9 4 1 gifer swifsw) A - 1 fafyme fomer! ded v few o € qon @ - 11 4

SToh TRUMEEEY B aTelt gelerdisl o Seoid ¢ |

[ -1 qT - 11
(T 1 wehfa =Y ST et vl ) (uftorrdt geferard )
(a) YIS =TT () Rl e e 1 e e guen
(b) TSI Argerae forsmy (i) T =TRd gU o a1 ast ¥ e e wisi w)
S hirgd HIAT HiSA 2 ST § R =R 3T ¥ |
(c) Tewiferaan (iti) Tifafafy e «ifm (qer) deEt faer
(d) feTE (iv) foraften deieh faumoy Hehmon & RO g &l Al
AT B S ©
(v) e et faer
<<
@@ () (9 (d
1 @) @ @ W)
@ @ v @O @)
3 (@) @) @ ()
4) (@) @v) @ @)

92. frAfafed SHI T =1 GAfad HIGL| e - [ H a0 fomii LT a9 Affcs qisier daet
Tuesti 9 92 vsE €1 Ve - I1H S I3 ohi o] ohi T €1 ST SH & foIe |el she ol 9 i |

[T -1 qe- 11
(v1sq) (=TT )
(a) gfcdum () @l ¥ g % yaTe & Hind g9 R 5 ear ¢
(b)  TeIRIAT (i) IS T S forhR & & Yo & oTa S §1
(c) TEWSAfTE (iii) T SATG T THUET o TeTd Tk F HE HH & TROTHEEY
B
(d) efafeq frm=mn (iv) 3 WHE: REfe S % ®9 H S ST € i i o fawd
EH AR

(v) 3Hh IRUTTEEY gEern fo@d €, Sife wifar & a9 &iH

YT 3@ F TTHH oY F GROTIEEY Bl ¢ |

<< :
(@ () (o (d)
1) v @ @v) ()
2 @v) (v @O @)
3) (iii) (i) () (@)
(4) (@) @) @Gv) (V)
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93.

94.

95.

Morfan Syndrome is a kind of :

(1) Genetic disorder

(2) Viral Infection

(3) Degenerative neuromuscular disease

(4) Muscular contraction

Which of the following provisions is most appropriate for addressing the learning needs of
the students having disabilities/impairments ?

(1) Individualised Transition Programme(ITP)

(2) Pre-school Programmes for children

(3) Individualised Education Programme(IEP)

(4) Free and Appropriate Education(FAPE)

Which of the following has relatively greater promise for professionalisation of teacher
education in India ?

(1) Forming of teacher associations

(2) Developing teacher code for transaction of teaching-learning systems

(8) Special packages to teachers offered

Enhancing the period of pre-service teacher education programme

poos HIHIHII||\||\||\H\||HH||||\|“|\|H||\|HH|||\|\|\|H|\ 5



93. TR GA Fefafed § 9 1 8 2

(1) eAgefres fashr

(2)  foromy Sifd HehH

(3)  3TeRteh TAhITATRT AT

@) R

94, Trafafead § 9 HF-w1 wraam .95 / e are S st I dedh staveshareti & SHieH
¥ ToY 3T § 2

(1) Safedes I wriswd (6.9, )

(2) o= 3 Thal Y HrdshH

(3) Safses e wriswA (AE.3)

4) Ty @ SugE e (TR diE.)

95. YRd H 7%k T¥1ef =1 U9er oM o f=fafad o 9 forad 1fes e €2

(1)  ST=A9 |l <l TS

2) Toeror-stferm gonferal st franfafa g steamas s fomfad s
(3) eTeATIhI i fa¥ie Tohe faw wma §

(4) HeT-yd s1eATah e wrikA St STafy g
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96. Below are given a few programmes for enhancing teacher quality. Which of these are specially
related to in-service teacher education ? Select the correct code to indicate your answer.
(a) Induction training
(b)  Skill development training
(c) Pedagogy courses in specific subjects
(d) Foundation courses in teacher educations
()  Micro-simulation for particular competencies
Code :
1) @O@ @ @OE 6 O©WE @ © O
97. For application of Total Quality Management (TQM) in teacher education, which of the
following measures will be considered helpful ? Select the correct code to indicate your
answer.
(a) Finding out the needed number of teachers in various states-demand and supply of
teachers
(b) “Can do’, Will do” analysis for specified groups of teacher educators
(c) Finding out the number of teacher education institutions
(d) SWOC analysis by teacher educators
(e)  Action research projects to improve school practices
Code :
O @b @ OO 6 O©WE @ @
poos [ NTHANRLANAN 2 Fapec




96. SUATH N TUE F AR T T A A T FA 1 Seor@ oA TR T Y
foR Hely TaNa STeATThl i e § €7 W@ fie H oI FIWS |
(a) R wfe
(b) whiere forerra wfereror
(o) fafere fodi § st wagwn
(d) eTeATTsh foien H SRy TR
(e) o weftoresit 2 ew-SrgeTT
FT
1) (@), () (d) ) (a) (b), (e) 3 (©) (d) (e) @) (®), (9, (d)
97. STy e 3 SOl T WS (F.99.TH. ) 3 S i FreAfenad S @ o s /e
ST €7 FE hE H T HL IW G |
(a) fafem Todi § SO} H ST WA WA A SR %) W Sy g
Eaul
(b) s R Wi % fav W i F %1 awar (6 ) wen wE R #
(foret g) Haieht fargerwo
() TR e el ¥ Ye w1 e e
(d) ST foerR gRT v, =, SR T SR He e (e faer)
() TRt il & o 7] fohatersh sTeem g
%2 :
1) () (b), (d) (2)  (b), () () ORNCACAC) @ @ 9 @
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98.

99.

100.

Which of the following set of statements is relevant for describing teaching as a Profession ?
For your answer select the correct code.

a) Teaching Profession has an organised body of knowledge

(

(b) Teaching Profession implies a set of attitudes

(c)  Duration of Teacher Training Programme is not a professional pre-requisite
(

d) Teaching Profession has its own code of moral ethics

Which of the following arrangements is an effective suppliment for providing Teacher
Education through distance mode ?

(1) EDUSAT (2) Smart Classrooms
(3)  Virtual Universities (4) MOOC

Which of the following has been found to be effective for modifying teacher behaviour in
terms of the evidences supported by research ?

(1) Interaction analysis procedure for classroom teaching behaviour
(2) Participation in seminars
(3) Undergoing training in research methodology
(4) Teacher consultation
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98.

99.

100.

frefafad § @ -9 o7 T a9 & 9 H 314799 ] IR 0 & fow i ¢ 2 9&r
e H T B IW S |

(a) STEATTR =EE™ § I Hfed 9 H B §

(b) ST IHE W HE gftesho sfifed 2 €

(c) STEATI UFSIETOT HIEAehH i STATY UG Yarden Tel &

(d) STEATI S i STHT B Hfdeh STER Siedl 3Rl ©

&

1 ®), (o) (d) CO R CVACACY 3) (@) (b) (I 4 @ (®) (©

frefafed § § HF- e e Tgfa & aream 9 sTeArgen et UeH w & gt 9w § 2
1) TgHE (2) TR wHEmd
(3) sy foafmmer™ (4) T8 HH ACTed IGHshH (TH.S.3LHL)

STHYT qafdd el o e | f=fafed § § fohd s1eam9en Feer | 93iieH & fae gt =
TNR?

(1) e | STEAT9 SHeRR &g Jid:fshan fagerson wfshan

(2) wifeal § vrfier
(3) oTgEuN faftl § gfdnero gra se
(4)  STEATH THY
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